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QUESTION 1

Which statement about SMS table spaces is correct? 

A. The system catalog cannot be stored in an SMS table space. 

B. Tables, large objects (LOBs), and indexes can each reside in separate SMS table spaces. 

C. SMS table spaces are recommended when you have small tables that are not likely to grow quickly. 

D. Extents are more likely to be contiguous with SMS table spaces than they are with DMS table spaces. 

Correct Answer: C 

 

QUESTION 2

Consider the following statement: 

Which indexes should be created for optimal query performance? 

A. CREATE INDEX emp_idx ON employee (workdept); CREATE INDEX dept_idx ON department (deptno); 

B. CREATE INDEX emp_idx ON employee (workdept) CLUSTER; CREATE INDEX dept_idx ON department
(deptname, deptno); 

C. CREATE INDEX emp_idx ON employee (workdept, lastname, job); CREATE INDEX dept_idx ON department
(deptname, deptno); 

D. CREATE INDEX emp_idx ON employee (lastname, job, workdept) CLUSTER; CREATE INDEX dept_idx ON
department (deptname); 

Correct Answer: C 

 

 

QUESTION 3

Which statement about compression dictionaries is FALSE? 

A. Page-level dictionaries are stored in hidden rows within the table. 

B. Table-level dictionaries are stored in hidden rows within the table. 

C. Page-level dictionaries are automatically created or recreated by the database manager as pages are filled. 
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D. Table-level dictionaries are automatically created or recreated as by the database manager as pages are filled. 

Correct Answer: D 

 

 

QUESTION 4

Which diagnostic tool can be used to show high-watermark consumptions of Fast Communication Manager (FCM)
buffers and channels? 

A. db2pd 

B. inspect 

C. db2dart 

D. db2mtrk 

Correct Answer: A 

 

QUESTION 5

If the AUDIT_BUF_SZ configuration parameter is set to zero (0), what will happen? 

A. The audit facility writes records to disk at the same time the statements generating the audit records are executing. 

B. Statements generating audit records must wait for the records to be written to disk before they can complete
execution. 

C. The writing of audit records to disk will be delayed until a minimum number of records (based on record size and
memory available in the database heap) have been generated. 

D. There is no limit to how many audit records can be stored in an internal memory buffer for one single statement
generating audit records. 

Correct Answer: B 
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